

19 آئین

$$\Lambda \cos x - \tan^2 x = 1 \rightarrow \Lambda \cos x = 1 + \tan^2 x \rightarrow \Lambda \cos x = \frac{1}{\cos^2 x} \rightarrow \Lambda \cos^3 x = 1$$

①

$$\rightarrow \cos^3 x = \frac{1}{\Lambda} \rightarrow \cos x = \frac{1}{\sqrt[3]{\Lambda}}$$



جواب ✓

۲

$$2 \sin^2 x + 3 \cos^2 x = -1 \rightarrow 2 \sin^2 x + 3 \cos^2 x + 1 = 0 \rightarrow 2 \sin^2 x + 3(\cos^2 x + 1) = 0$$

②

$$2 \sin^2 x + 3 \cos^2 x = 0$$

$$\rightarrow \sin x = 0 \rightarrow x = k\pi$$

$$3 \cos^2 x = 0 \rightarrow \cos x = 0$$

۲

$$\rightarrow \cos^2 x = 0 \rightarrow \frac{x}{\pi} = k\pi + \frac{\pi}{2} \rightarrow x = k\pi + \frac{\pi}{2} \rightarrow x = \frac{k\pi}{2} + \frac{\pi}{2}$$

③

$$\textcircled{1} \cap \textcircled{2} = \left\{ \pi, -\pi \right\}$$

جواب ✓

$$3 \sin x \cos^2 x + \sin x = 1 \rightarrow (3 \sin^2 x - 3 \sin x + 1) = 0 \rightarrow (\sin x + 1)(3 \sin^2 x - 3 \sin x + 1) = 0$$

1/5

$$\sin x = -1$$

$$\sin x = \frac{1}{3}$$

$$x = \frac{k\pi}{2}, \frac{\pi}{2}, \frac{3\pi}{2} \rightarrow S = \frac{k\pi}{2} + n = \frac{2n}{2}$$

$$\frac{1}{\sin\left(\frac{\pi}{2} + \epsilon n\right)} + \frac{1}{\cos\left(\frac{\pi}{2} + \epsilon n\right)} = 0 \rightarrow \frac{1}{\sin\left(\frac{\pi}{2} + \epsilon n\right)} + \frac{1}{-\sin(\epsilon n)} = 0$$

$$\frac{-\sin \epsilon n + \sin\left(\frac{\pi}{2} + \epsilon n\right)}{-\sin \epsilon n \cdot \sin\left(\frac{\pi}{2} + \epsilon n\right)} = 0 \rightarrow \sin\left(\frac{\pi}{2} + \epsilon n\right) = \sin \epsilon n$$

④

$$\epsilon n = k\pi + \frac{\pi}{2} + \epsilon n \rightarrow x = k\pi + \frac{\pi}{2}$$

$$\epsilon n = k\pi + \frac{\pi}{2} - \frac{\pi}{2} - \epsilon n \rightarrow x = \frac{k\pi}{2} + \frac{\pi}{2}$$

$$x = \frac{\pi}{2}, \frac{3\pi}{2}, \frac{5\pi}{2}, \frac{7\pi}{2}$$

ایضاً

$$\tan \frac{\pi}{4} = -\sqrt{2}$$

مقدار دلتا

$$x = \frac{5\pi}{12} = \frac{\pi}{3} \rightarrow 2x = \frac{5\pi}{6} \rightarrow \tan \frac{5\pi}{6} = -\tan \frac{\pi}{6} = -\frac{\sqrt{3}}{3}$$

سوال فقط بانرا، ام خواہ

$$m(\cos x - \sin x) - \sqrt{2} \sin 2x = \sqrt{2}$$

⑤

$$\cos\left(m\frac{\pi}{2}\right) = \frac{1}{\sqrt{2}} \rightarrow \frac{\sqrt{2}}{2} \cos x - \frac{\sqrt{2}}{2} \sin x = \frac{1}{\sqrt{2}} \rightarrow \cos - \sin = \frac{1}{\sqrt{2}} = \frac{\sqrt{2}}{2}$$

$$(\cos - \sin)^2 = 1 - \sin 2x = \left(\frac{\sqrt{2}}{\sqrt{2}}\right)^2 = \frac{1}{2} \rightarrow \sin 2x = \frac{1}{2} \rightarrow m\left(\frac{\sqrt{2}}{\sqrt{2}}\right) - \sqrt{2} = \sqrt{2} \Rightarrow m = 4$$

$$\frac{m\sqrt{2}}{\sqrt{2}} = \sqrt{2}$$

$$\sin\left(n + \frac{\pi}{4}\right) \cos\left(n - \frac{\pi}{4}\right) = 1 \rightarrow \frac{1}{2} \sin\left(n + \frac{\pi}{4}\right) = 1 \rightarrow \sin\left(n + \frac{\pi}{4}\right) = \frac{1}{2} = \sin \frac{\pi}{6}$$

$$= \cos\left(\frac{\pi}{4} - n\right)$$

$$n + \frac{\pi}{4} = k\pi + \frac{\pi}{4} \rightarrow n = k\pi$$

$$n + \frac{\pi}{4} = k\pi + \pi - \frac{\pi}{4} \rightarrow n = k\pi + \frac{3\pi}{4}$$

$$n = 0, k\pi, \frac{3\pi}{4}$$

$$\sin n + \sqrt{3} \cos n = \sqrt{2} \rightarrow \frac{1}{2} \sin n + \frac{\sqrt{3}}{2} \cos n = \frac{\sqrt{2}}{2} \rightarrow \sin\left(n + \frac{\pi}{6}\right) = \frac{\sqrt{2}}{2} = \sin \frac{\pi}{4}$$

$$n + \frac{\pi}{6} = k\pi + \frac{\pi}{6} \rightarrow n = k\pi$$

$$n = \frac{\pi}{12}, \frac{5\pi}{12}, \frac{13\pi}{12}, \frac{17\pi}{12}$$

$$n + \frac{\pi}{6} = k\pi + \pi - \frac{\pi}{6} \rightarrow n = k\pi + \frac{5\pi}{6}$$

$$\frac{9\pi}{12} = \frac{3\pi}{4} = \frac{3\pi}{4}$$

$$\sin n \cdot \sin\left(\frac{5\pi}{6} - n\right) = -\sin n \cos n = 1 \rightarrow -\sin 2n = 1 \rightarrow \sin 2n = -\frac{1}{2} = \sin\left(-\frac{\pi}{6}\right)$$

$$2n = k\pi - \frac{\pi}{6} \rightarrow n = k\pi - \frac{\pi}{12}$$

$$n = \frac{11\pi}{12}, \frac{13\pi}{12}, \frac{23\pi}{12}, \frac{25\pi}{12}$$

$$2n = k\pi + \frac{5\pi}{6} \rightarrow n = k\pi + \frac{5\pi}{12}$$

$$\frac{13\pi}{12} = \frac{13\pi}{12}$$

$$(1 + \cos 2\alpha)(1 + \cos 2\alpha)(1 + \cos 2\alpha) = \frac{1}{\lambda}$$

$$(2\cos^2 \alpha)(2\cos^2 \alpha)(2\cos^2 \alpha) = \frac{1}{\lambda} \rightarrow (2\cos^2 \alpha)^3 = \frac{1}{\lambda} \rightarrow \cos^2 \alpha = \frac{1}{2\sqrt{\lambda}} \rightarrow \sin^2 \alpha = \frac{1}{2\sqrt{\lambda}}$$

$$\frac{\frac{1}{2\sqrt{\lambda}} \sin^2 \alpha}{\sin^2 \alpha} = \frac{1}{2\sqrt{\lambda}} \rightarrow \sin^2 \alpha = \sin^2 \alpha \rightarrow \cos 2\alpha = \cos 4\alpha$$

$$2\alpha = k\pi \pm 4\alpha \rightarrow \alpha = \frac{k\pi}{2} \pm 2\alpha \rightarrow \alpha = \frac{k\pi}{2}$$

$$\tan m \cdot \tan n = 1$$

$$\tan m = \frac{1}{\tan n} = \cot n \rightarrow \tan m = \tan\left(\frac{\pi}{2} - n\right)$$

$$m = k\pi + \frac{\pi}{2} - n \rightarrow n = k\pi + \frac{\pi}{2} - m$$

$$n = \frac{9\pi}{12}, \frac{11\pi}{12}, \frac{13\pi}{12}, \frac{15\pi}{12} \rightarrow \frac{13\pi}{12} = \frac{13\pi}{12}$$

$$\cos\left(x - \frac{\pi}{4}\right) = \cos\left(\frac{\pi}{4} - x\right)$$

$$\frac{\pi}{4} - x + x + \frac{\pi}{4} = \frac{\pi}{2} \rightarrow \cos\left(\frac{\pi}{2} - x\right) = \sin\left(x + \frac{\pi}{4}\right)$$

$$\sin^2\left(x + \frac{\pi}{4}\right) = 1 \rightarrow \sin\left(x + \frac{\pi}{4}\right) = \pm 1 \rightarrow x + \frac{\pi}{4} = k\pi + \frac{\pi}{4}$$

$$x = k\pi + \frac{\pi}{4} \xrightarrow{0 \leq x < 2\pi} k \geq 0 \rightarrow x = \frac{\pi}{4}, \quad k < 1, \quad x = \frac{5\pi}{4}$$

معادله ۲ جواب در بازه دارد

$$\cos 2x = 1 - 2\sin^2 x \quad (\text{فرمول ظاهری})$$

$$2\sin x(1 - 2\sin^2 x) + \sin x = 1 \rightarrow 2\sin x - 4\sin^3 x = 1$$

$$\sin^3 x = 1 \rightarrow x = k\pi + \frac{\pi}{4} \rightarrow x = \frac{2k\pi}{3} + \frac{\pi}{4} \xrightarrow{0 \leq x < 2\pi}$$

$$k < 0 \rightarrow x = \frac{\pi}{4}, \quad k = 1 \rightarrow x = \frac{5\pi}{4}, \quad k < 2 \rightarrow x = \frac{9\pi}{4}$$

$$S = \frac{\pi}{4} + \frac{5\pi}{4} + \frac{9\pi}{4} = \frac{15\pi}{4} = \boxed{\frac{5\pi}{4}}$$